
Perform the operations in the correct order.

1. 9
5 ÷4÷ (−3)

2. 12×
(
−3

2

)2

3. 11+(−3)×3

4. 1× 1
2 −

7
5

5. (−9+5)×
(
−8

5

)

6. 5
3 ×3× (−8)

7. 1
2 +

7
4

2

8. (8÷ (−2))2

9. 7
4 −

(11
2 − 8

3

)

10. 9
5

2 −2

Order of Operations

www.intermathschool.com



Perform the operations in the correct order.

1. 9
5 ÷4÷ (−3)
=− 3

20

2. 12×
(
−3

2

)2

= 27

3. 11+(−3)×3
= 2

4. 1× 1
2 −

7
5

=− 9
10

5. (−9+5)×
(
−8

5

)
= 32

5

6. 5
3 ×3× (−8)
=−40

7. 1
2 +

7
4

2

= 57
16

8. (8÷ (−2))2

= 16

9. 7
4 −

(11
2 − 8

3

)
=−13

12

10. 9
5

2 −2
= 31

25
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